[ 4% B B B s B2 0 R 55 (DC 3% ) M8
SN R~ (mm) M8x45 M8x50
# BE Z5(Sn) 3.0mm 6.0mm 1.5mm 2.5mm
ZEAR EA E| 3] #EA E|$::)

3% 3DC 10-30V NPN N.O.

ILM8-MO3NA-Y3V3/C45

ILM8-FO6NA-Y3V3/C45

IM8-M1.5NA-Y3U4/ S50

IM8-F2.5NA-Y3U4/S50

32 ADC 10-30V NPN N.C.

ILM8-MO3NB-Y3V3/C45

ILM8-FO6NB-Y3V3/C45

IM8-M1.5NB-Y3U4/S50

IM8-F2.5NB-Y3U4/S50

4%5XDC 10-30V NPN N.O.&N.C.

3% 3DC 10-30V PNP N.O.

ILM8-MO3PA-Y3V3/C45

ILM8-F06PA-Y3V3/C45

IM8-M1.5PA-Y3U4/S50

IM8-F2.5PA-Y3U4/S50

3% \DC 10-30V PNP N.C.

ILM8-MO03PB-Y3V3/C45

ILM8-F06PB-Y3V3/C45

IM8-M1.5PB-Y3U4/S50

IM8-F2.5PB-Y3U4/S50

42 5XDC 10-30V PNP N.O.&N.C.

4% DC 10-30V NPN&PNP N.O.&N.C.

* 3% 3 DC 10-30V NPN&PNP N.O.&N.C.

M8x1 M8x1 M8x1 M8x1
IR T F ] [ #
v ¢ | ! 1
vl[ ] vl[ )< v‘[ Jg e : jw‘
R E(& . mm) Weunch Fic s s gi ok gi T s
' =l | = | Z r o |
) ! y 2 . LED. LED (— i
LED-= LED-== o (4x)\)\0 - (4x) m o
2y 2 2
gy et =) v 4L |
M12x1 M12x1
2  BE E8(Sn) 3.0mm=*=10% 6.0mm=*10% 1.5mm=*10% 2.5mm=*=10%
FEiHE 1~10% 1~10% 1~10% 1~10%
FRAE A 44 #9x9x1mm £18x18x1mm £K8x8x1mm #8x8x1mm
FrxshiE 1000Hz 500Hz 2500Hz 2000Hz
ESHBE <Sn*3% <Sn*3%
WL RE R <0.01mA <0.01mA
EHBER <10mA <10mA
W R <200mA <200mA
S8 <2v <2V
Rip Wt R IERIP, L AORINEI R A EUE RS R | AR RIERIP, L R BOR B 4R 37, 52 303G BR AR
LED &7 HMIETERAT (&) HIEIRRAT(H &)
T1ERE(C) -25~+70°C -25~+70°C
BRI <Sn*10% <Sn*10%
iR E('C) -25~+80°C -25~+80°C
LM 50M QA _E(DC 500VIkERR), Fora ghassfnshas 2 8] [ 50MQELE(DC 500VIkER %), e EpEesFnsh s 2 8]
EMC & ¥R HEEN60947-5-2 A #5 HEEN60947-5-2
D274 IP67 IP67
EEAR 3$TM8YE 3% 25 45tM1 255 5 28
LRS! ST A4 B 4R 4 SR AG T T A4 k2B R ST A4 RS 85 4R T A 2B R
&i* Er 12,458 &ES, BER05R. *: ALThEHMEE, E¥R169TT

@ woobD FYWEST

EBARAEFRZBRQE




	Ò³Ãæ  1

